GANIAMNTIV—F FIAHE—E

N 2 X £ %8
X7 SR I £ 3.140M
% \Y V4
ERE 1,230 SE{ERA 1T 1,.570H
=H m_)f;g 1 :63OIIJ 45 D14T /90H
R LT 400 %:XT 1 ,%8 H
2401 SR 610M 25301 {E R *4 H
45D1HT 390/
—i% 810
FEL 530M P 247 2,0908
XTI 3402 e 820 T 7 | ssmommn 4T 1,040
(1 BSR4 7=Y) r 7100 (1ERSY) 45014 520
REELT 260 247 1 ,Oggﬂ
N = R A 400MH 37D {ERE FAT S520H
R0 s 450147 260
. 230! | mosm = 570F
PEELT 1508 =<
54301 BRE 240 5401 fE R 1T &
—i& 310/ 45014 1508
RFEELT 400M 21T 1,570
WHER N BRE 610M LA HAT 790M
$T7U—F — 810H 42@ x; 1T 3 ggg
Nl FELAT Ipo YITIT | ot mmes 1T 3909
2701 I%—BJ;QE 2802 (1B 7=Y) 453D 1 (T 180M
TRFATARAAGRBY | BROERANICSER 21T 390
: T8 %R 4501 fERES awd) 180H
(3,000H %) LCi57cEn zD 1! 11T0H
7RFaT7FIAASEHY BEOERENCT0E S ‘ 49 ?r—% 300
BRI (3,000MLLE) ﬁmi%%( o5l | o o %;1,5 1= 1H37% :
\ BED £ 7 X N
e FERLSASEBY i i 15 18 %7y 2,200
EEDERRIC30% 2 e, 1,220/
BRSMER(BERIBN) o m s - 25D 1 BRI 2 7Y 600
PN EEGERD) LI 440M RREE | A TU—F 453MD3 TG EY D, 910M
E;;; 1 %(1 H:#Faﬂ%f;‘)) 310 fim 457D 1 Sl EYsD) 290M
B 1=(1BESEY) 310/ $T7U—F 2 1R 290
EFEE(IER) QSO EYs — (1 BSR4 ) 220H
= TR (BHEAD) STom| | oy | BRER e i) 160
e Ry S0om] | o " ROBEELY) 1,320M
e | —BERETIROOUIR 2.090F S8 e
V= TE T re arE(BBARY) 150

PF-SREFERAZF1 1OV

1,570H




